
Problem Set 4, PS4 due Wednesday May 26

    2.61        A 15 ft3 rigid tank contains a saturated mixture of liquid and vapor R-134a at 
30 psi.   If the saturated liquid occupies 10% of the volume, determine the quality and 
total mass of the refrigerant in the tank. 

2.59       Compare the specific volume, internal energy and enthalpy of compressed 
liquid water at 100 C and 15 MPa using the saturated liquid approximation, the steam 
tables  and the EES program. 
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2-79    Determine the specific volume of superheated steam at 10 MPa and 400 C using,  
a) the ideal gas equation, b) the general compressibility chart and c) the steam table.  
Calculate the error in a) and b). 
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